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Question Description:

Which statement is true of chemical equations?

T ilal) cislaal) o Gt A0 Cjlad) Ga (g

Question Type: Difficulty Level:

Multiple Choice Intermediate

I Question Qutcome Analysis

Question Lesson(s):

No specific lesson

Question Marks:

5

i)
gE
# Answer Option Responses
el Sl o il el Com o Lo linall 10.5%
1 Reactants are on the right side of the arrow and products are on the left side of the arrow [1256]
el S s e B 0 S s 6.04%
2 Products have fewer atoms than reactants [723]
28 ) e e g Betn @ e 5.03%
3 Reactants have fewer atoms than products [602]
bl b adt patel) Sl e (gluy ClelBall 6 yale JS ) 2 78.16%
4 The number of atoms of each element on the reactants is equal to the number of atoms of the same element on the products. [9349]
0.27%
5 No Response
32]
Based on the diagram below, which number Aciaal) AUl ey o) gl colial akaiall () Taliial
represents the energy absorbed during the ?Ml delall e
chemical reaction?
Energy Diagram M) dalain
3
Reaction progress
Question Type: Difficulty Level: Question Lesson(s): Question Marks:
Multiple Choice Intermediate No specific lesson 5
I Question Outcome Analysis (i ]
&
# Answer Option Responses
5.94%
1 1
7111
22.6%
2 2
[2703]
6.8%
3 3
[813]
64.43%
4 4
[7707]
0.23%
5 No Response

[28]



Which of the following is NOT a correct explanation of laiiall Apaay Whls Tyl 3 o @5

the importance of buffers to living organisms? Shaal) clislcl
Question Type: Difficulty Level: Question Lesson(s): Question Marks:
Multiple Choice Intermediate No specific lesson 5
Question Outcome Analysis i}
@
# Answer Option Responses
LR s Cnma i) lipd S5 B B Sl Sipaas it pas 61.7%
1
Buffers allow large fluctuations in the concentrations of hydrogen ions in a cell [7381]
7.556.5 G e Gt pan WA 3 cmg gl 4l o Baliadl 3 claiaal) sl 16.98%
2
Buffers help maintain the pH level in the cell between 6.5 and 7.5 [2031]
Rl Sl e Bliall b cldand als 8.6%
: -
Buffers play a role in maintaining homeostasis [1029]
) Lgall Olbanlly Fraspi) cBlo el plial) Ball (puals B ilalisall 20l 12.04%
Buffers help maintain the proper environment for enzymatic reactions and biological processes to occur [1464]
0.48%
5: No Response
[57]
Which substance is not part of a nucleotide? CaiglSoulll fa 1aja iai Y ) Balal) La
Question Type: Difficulty Level: Question Lesson(s): Question Marks:
Multiple Choice Intermediate No specific lesson 5
Question Outcome Analysis (i ]
=
# | Answer Option Responses
1 A phosphate il gill hi2ity
[750]
9.04%
2 A base 3ac.13])
[1081]
7.51%
A sugar )
3 9 A [898]
. 76.98%
4 Nitrate grou =) ill
group =l [9208]
0.21%
5 No Response

[25]



Which of the f ing lecules is 250 e BilgR A0 ekl il s g

matched with its correct role in the cell? cdglal ‘.,A aall
Question Type: Difficulty Level: Question Lesson(s): Question Marks:
Multiple Choice Intermediate No specific lesson 5
Question Outcome Analysis i ]
=
# Answer Option i Responses
lgall Jai — Zaggtll 12
1 Sl (i — gyl alaay! 0m%
Nucleid acid — Transport substances [1175]
sl pll — oy <l 1227%
2
Carbohydrates — Make hormones [1468]
Al cilagleall a5 = Ogadl 6.72%
3
Lipids — Store genetic information [804]
Dol pupi— iyl 70.89%
4
Proteins — Speed reactions [8479]
0.29%
5 No Response 351
If a microscope has a series of three lenses that Clude EDS e dduda jgaal IS 13)
magnify individually 4x, 5%, and 6x, what is the Sx dx A AL WS B A
total magnification of the microscope? S aall i 58 dlaa Lad 6%
Question Type: Difficulty Level: Question Lesson(s) Question Marks:
Multiple Choice Intermediate No specific lesson 5
I Question Outcome Analysis i ]
& &
I
# Answer Option | Responses
2.48%
1 20x%
[297]
5 24x 1.08%
[129]
9
5 30% 121%
[145]
95.06%
4 120x%
[11371]
0.17%
5 No Response

[20]



Question Description:

During their mission to planet Mars,
astronauts have found material that might
be a cell. Which of the following must the

material have to be considered a cell?

As) 323 Gal S8 N gt Pa

& Alh 036 o Jaiaal) oo Bala Sl
o Balal) o3 B Lehiadls of caaw b aa
fUnills Aa S

Question Type: Difficulty Level:

Multiple Choice Easy

Question Lesson(s): Question Marks:

No specific lesson 5

Question Outcome Analysis (i}
=
# Answer Option Responses
55.75%
The material must have a nucleus By salall 0% o
1 I BEORUEES 166691
. X 3.09%
2 The material must have chloroplasts — olusa wlasdl saldl 56 o s
[370]
c 9 5 6.04%
3 The material must have mitochondria LtigSgina dalall G o 7221
The material must have a cell membrane Lala slis saldll % SREES
4 st Blis salall S o s B2
0.24%
5 No Response
[29]
Question Description:
Which of the following orientations of phospholipids Qb Ll Jeay Jia A0 cluaad (6
best represents the phospholipid bilayer of the Sl eLiall dagaiall du)gdeadll O sa )
plasma membrane?
A B c o
Question Type: Difficulty Level: Question Lesson(s) Question Marks:
Multiple Choice Intermediate No specific lesson 5
Question Qutcome Analysis (i}
=
# Answer Option Responses
2.72%
1 A
[325]
83.27%
2 B
[9961]
7.25%
3 C
[867]
6.64%
4 D [794]
0.13%
5! No Response

[15]



Question Description:

‘Which of the following organelle is matched

with its correct role in the cell?

o ) 998 e (Bl A Slual) e gl

faglad)

Question Type: Difficulty Level:

Multiple Choice Intermediate

Question Lesson(s): Question Marks:

No specific lesson 5

Question OQutcome Analysis (i ]
@
# Answer Option Responses
Sty ) aieat adge tlpunSonl 8.26%
1
Mitochondria: the site of protein synthesis [988]
, Al ol i eyl 14.71%
Nucleus: provides support to the cell [1760]
AN el Uy (S ta Al A Dbl ASu 10.4%
Endoplasmic reticulum: forms a framework for the cell within the cytoplasm [1244]
Ll B e dlgall A5y 1 ca D) ol 66.13%
Plasma membrane: controls the movement of substances into and out of the cells [7910]
0.5%
5 No Response [60]
Question Description:
Which type of transport requires energy ; B e 2
Cailal) uila e dBULU YWlas calhaiy (oM A3 ggi La
input from the cell? ¢ &
Question Type: Difficulty Level: Question Lesson(s): Question Marks:
Multiple Choice Intermediate No specific lesson 5
Question OQutcome Analysis (i ]
&
# Answer Option Responses
1 Facilitated diffusion el LY 4025
[361]
. " . 2.24%
2 Simple diffusion  la.l Lyl 12681
. - 90.8%
3 Active transport Lsdll Jai
[10861]
. 38%
2 Osmosis Ljga) [454]
0.15%
5 No Response

[18]



Question Description:

Which is not a factor that affects the

rate of diffusion?

€LY Aspe B igal) L Jalad) L

Question Type: Difficulty Level: Question Lesson(s): Question Marks:
Multiple Choice Intermediate No specific lesson 5
Question Outcome Analysis Li ]
EEE
# | Answer Option Responses
= = 76.61%
1 Conductivity — Juagill
[9164]
. 9.32%
2 Concentration 3.5 2
[1115]
8.11%
3 Pressure Ll
[970]
5.88%
4 Temperature 5l .
[703]
0.08%
5 No Response
[10]
Question Description:
Which image shows a trichome? Sl dll gb selin A ) gall Ca (gl
Question Type: Difficulty Level: Question Lesson(s): Question Marks:
Multiple Choice Intermediate No specific lesson 5
Question Outcome Analysis o
RRERT)
# Answer Option Responses
2.34%
1 A
[280]
3.44%
. 8 [412]
3 c 1.66%
[198]
92.39%
4 D
[11052]
0.17%
5 No Response

[20]



Question Description:

Question Type:

Multiple Choice

Which of the following is a characteristic

of sclerenchyma plant cells?

S A Auasdi o) LA Bjua g b Laa g

Difficulty Level:

Intermediate

Question Lesson(s)

No specific lesson

Question Marks:

5

Question Outcome Analysis (i ]
=
# Answer Option Responses
A8, Lala ohaa Ly Sl Ay 16.07%
1
Are spherical in shape with thin cell walls. [1922]
, gl iy JCal AL,k 17.75%
Have an elongated shape and can be stretched. [2123]
- el Laxie Al LAl ) a5 53.31%
3
Lack living components when they mature. [6377]
<Gl e 5SY) gl dafiag 12.32%
4
Maintain the greatest variety of organelles. [1474]
0.55%
5 No Response
[66]
Question Description:
Which leaf structure is the site where the most abina 4d Giaad 43 gl SIS e @i
photosynthesis takes place in the figure below? Solial JSi) o geall bl gl
= ﬁo C=F
5.2(0212,9]°0(ch/ Yo/l 30"90 ols
1 JLO% Ou“&”&n oo a%d:;ﬂa;i)o o
N0k o235 JUo SAVOASeA ot §oAS
D (=)
I~ 2l leoe
——— =
Question Type: Difficulty Level: Question Lesson(s): Question Marks:
Multiple Choice Intermediate No specific lesson 5
Question Outcome Analysis (i ]
=
# Answer Option Responses
59.44%
1 1
[7110]
19.34%
2 2
[2313]
14.63%
3 3
[1750]
6.33%
A 4 [7571
0.27%
5 No Response
321



Question Description:

What are the functions of xylem and phloem?

£olally caldll iy A b

Question Type: Difficulty Level:

Multiple Choice Difficult

Question Lesson(s):

No specific lesson

Question Marks:

5

Question Outcome Analysis Li ]
FEE@
# Answer Option Responses
il obeal) Slall iy Laisy Sy olal) catall i 10.69%
1 Xylem transports water and sugars, phloem transports mineral ions [1279]
elall clalll i Lasy Sy 23R cpalaall ) s 9.25%
2
Xylem transports mineral ions and sugars, phloem transports water [1107]
Alaall cpolaally olal) lalll i Lz S Calal) o 6.45%
3
Xylem transports sugars, phloem transports water and mineral ions [7721
O Glalll Jas et 303 calaally JLall anlall i 73.28%
4
Xylem transports water and mineral ions, phloem transports sugars [8766]
0.32%
5 No Response
[38]
Uuestion Uescription:
What plant condition do the photos below show? ol jguall gl LA Ela a Ala ‘;i
Question Type: Difficulty Level: Question Lesson(s): Question Marks:
Multiple Choice Intermediate No specific lesson 5
Question Outcome Analysis (i}
B @
# Answer Option Responses
4.09%
Dwarfism Sl
! el [489]
3.79%
2 Leaf droj 3 il
P [£51) 1453]
) 20.21%
3 Nastic movements  aSull wllandl
[2418]
4 Apical dominance Al saled) dlinie
8582]
s Ko 0.17%
0 Response [20]



Question Description:

Which pair of terms is mismatched? Sy g Blgie & LI Slathad) glg) e

Question Type: Difficulty Level: Question Lesson(s):

Multiple Choice Intermediate No specific lesson

Question Marks:

5

Question Qutcome Analysis (i ]
B
# } Answer Option Responses
N e - . 28.13%
1 Cranium, sutures (ARl Aaal il o gudll) b al) < nill (33657
- 11.14%
2 Shoulder, ballandsocket joint ‘Hh.“ @)ﬂl Ceadell gl [1332]
, . 10.02%
3 Knee, hinge joint S Jaaiall (A5
2 [1198]
4 Wrist, pivot joint ypnall Joadall caull At
’ z & [6015]
0.43%
5 No Response 1521
Question Description:
What is a characteristic of the portion of the bone el g2 Aabinl) gl daw b o e “;1
indicated by the arrow in the diagram below? 2ol eyl (B agad) 4
Question Type: Difficulty Level: Question Lesson(s): Question Marks:
Multiple Choice Intermediate No specific lesson 5
Question Outcome Analysis (i ]
@
# Answer Option Responses
1 It contains no living cells s A 6l e g Y i
= = L [1160]
- . o 68.8%
2 It contains bone marrow ekl g LA e (sgay o]
It is the only type of bone tissue in long bones .aLghll M.l 3 | gl il g6 Jesa
3 y typ g calghll alhall 8 sagall gl il g [1467]
P : ) . x 8.9%
4 It is made of overlapping osteon systems cOsalaall e A8 sie dalail (e (53S0 10651
0.33%
5 No Response

[40]



Question Description:

Which is not a function of bone?

Sallaal) iy o0 B3 Y (A Laa (g

Question Type: Difficulty Level:

Question Lesson(s) Question Marks:

Multiple Choice Intermediate No specific lesson 5
Question Outcome Analysis (i}
5 B
# | Answer option Responses
6.83%
1 Internal support alall asall
gl 1817]
N % i - R 6.89%
2 Protection of internal organs ~ Zdalal (s’ Lla
[824]
. . 4.58%
3 Storage of calcium PRTICS O T
2 [548]
4 Production of vitamin D Dl 7l Gk
[9683]
0.75%
5 No Response
p [90]
A team of biologists studied the effect of Al Bbad dag L cla® e Ga Bid Gupe
temperature and carbon dioxide on ponderosa Gt g pigd) sipia Sl U’ Qgustl ]
pines. The graph below represents the amounts A\ ARl U 3 gl Eluas oliaf )
of tracheids with various diameters grown at Al Bla cla e S5
different temperatures. A5 RS O e Laa gl el SR () o)
Based on the graph, which of following shows £l Ciluadll WA Jh‘-,a Bl da e
how the temperature affects the diameter of
developing tracheid cells?
Temperature and Tracheid Diameter
- o—e High temperature
Tl 8= tow enperare |
£ PR at  p
® 030+ 11 t | I i
= 020
H
8 o0
& . ﬂIM‘QV(\HU:&MHM:JWW
oV7 8 9 1011 12 13 14 15 1 18 19 i il Jad
Tracheid diameter (mm) -
Question Type: Difficulty Level: Question Lesson(s): Question Marks:
Multiple Choice Intermediate No specific lesson 5
Question Outcome Analysis (i ]
HJEE
# | Answer Option Responses
ilpaill 5l 5205 I Bl ey alisdl g 25.42%
k Colder temperature increase the diameter of the tracheids [3041]
5 Lsale S8 claadll Gki o Blall i S5 Y 14.14%
The temperature does not significantly affect the diameter of the tracheids [1692]
, Gl Hha @l o Sluaall LY LA J5 il
The highest tracheid diameter is reached at low temperature [2949]
Slanadll jli 21l I glhall clay g 16)) 528 35.63%
4
Warmer temp increase the of the [4262]
< NE 0.15%
0 Response [1 8]
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